
Konc. extrakt

Varianta Opakování Navážka ředění A662 A644 chl a
g mg/l

Kontrola 1 0.24 0.79 0.27

2 0.203 0.411 0.159

3 0.202 0.476 0.237

bez N 1 0.202 0.389 0.117

2 0.209 0.268 0.1

3 0.225 0.725 0.272

bez P 1 0.214 0.661 0.246

2 0.204 2 0.483 0.178

3 0.205 0.6 0.237

bez Fe 1 0.414 0.177 0.078

2 0.411 0.052 0.026

3 0.408 0.156 0.056



Konc. extrakt Obsah v listu Vzorce pro výpočet koncentrace:

chl b chl a chl b chl a: chl b chlorofyl a  =   9,784×A662 - 0,990×A644     [mg.l-1]
mg/l mg/g mg/g chlorofyl b  = 21,426×A644 - 4,650×A662     [mg.l-1]
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chlorofyl a  =   9,784×A662 - 0,990×A644     [mg.l-1]
chlorofyl b  = 21,426×A644 - 4,650×A662     [mg.l-1]


